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HOI QUI PA BIEN

id tuoi chedoan | theduc | cholesterol
1 46 6 2 35
2 20 S 14 1.9
3 52 7 1 4.0
4 30 5 3 256
5 57 2 1 4.5
G 25 3 5 3.0
7 28 3 9 2.9
8 36 5 3 3.8
9 22 2 12 2.1

10 43 4 3 3.8
11 57 3 2 4.1
12 33 2 G 3.0
13 22 3 9 2.5
14 63 8 1 4.6
15 40 5 & 3.2
16 438 ¥ 2 4.2
17 28 2 10 2.3
18 49 2 3 4.0
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HOI QUI TUYEN TiNH DO'N BIEN

Model Summany

Mode Adjiusted H Std. Error of
l F E Sqguare Suare the Estimate
1 H3rs E=r E=ran A02T
a. Predictors: (Constant), tuoi
ANOWVA"
S of
bl el SQuares ot Mean Sguare F =i,
1 Fegression 10.494 1 10.494 114 5864 aoo=
Residual 1.466 16 naz
Total 11 960 17
a. Predictars: (Constant), tuoi
h. Dependent Wariable: cholesteraol
Coefficients”
Standardized
Instandardized Coefficients Coefficients
Mode] E Std. Error Beta t =1 1=
1 (Constant 1.089 22 4918 000
tuoi 0458 004 A3r 10.704 000

a. Dependent Variahle: cholesteraol
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Cholesterol ( mmol/L)= 1,089 + 0,058 *Tubi (nam)
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Y. =By + B X+ BX + B X+...+¢

Cholesterol = 5, + B,(tuol) + B,(theduc)
+ B;(chedoan)+....+ &
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HOI QUI TUYEN TiNH DA BIEN

Model Summanry

Mode Adjusted R Std. Error of
| R R Sguare Sguare the Estimate
1 H59= 820 803 2ET12

a. Predictors: {Constant), chedoan, theduc, tuoi

ANOWVA®
Sum of
(IsTx =1 Sguares cdf Mean Sguare F Sid.
1 Fegression 11.005 3 3663 a3.7aT .oap=
Fesidual Aa5 14 063
Total 11.960 17
a. Predictors: {Constant), chedoan, theduc, tuoi
h. Dependent Wariahle: cholesteral
Coefficients”
Standardized
IUnstandardized Coefficients Coefficients
hode| E Sid. Error Eets 1 Sig.
1 (Constant) 2178 471 4624 .0ao
tuoi 036 009 584 3.837 .00z
theduc -.a74 029 -.358 -2.8487 023
chedoan 02T 03T 076 238 474

a. Dependent Wwariahle: chaolesteral




HOI QUI TUYEN TiNH DA BIEN

Model Summary
Mode Adjusted R Std. Error of
[ R R Square Souare the Estimate
1 H53s H17 H0A 2aT
a. Predictars: (Constant), theduc, tuoi
ANOVA®
Sum of
Wiodel Squares of hean Sguare F =i
1 Fegression 10.9649 2 5.484 a2.871 o=
Residual 91 14 06R
Total 11 49610 17
a. Predictars: (Constant), theduc, tuoi
h. Dependent Variable: cholesterol
Coefficients?®
Standardized
Unstandardized Coefficients Coefficients
Mioge] B Std. Error Beta t Sig.
1 (Constanty 22168 AR 4,804 .0oo
tuoi 034 .aoa Fz2a 4 586 .aaa
theduc -.07H 023 - 367 -2.678 17

a. Dependent Wariable: chalesteraol
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Cholesterol = 8, + B,(tuol) + B,(theduc)
+ Bs(chedoan)+....+ ¢

Cholesterol = 2,178 + 0,036(tuol) —
0,074 (theduc) + 0,027(chedoan)

Cholesterol = 2,216 + 0,039(tuol) — 0,076(theduc)
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